Order #	63170361	Flight Dates	03/29/24 - 04/04/24	Update Da	e	03/28/24	
Syscode	1563	Agency	Nebo Media	Version		1 Vs. 1	
System Name	Spectrum/North Orange County, CA	Advertiser	Majority PAC	Show All Li	nes	-	
Market	Los Angeles			Total # of V	Veeks		1
		Client Code	898	Total			\$1,105.00
AE	Molly Casca	Product Code	982	Commissio	n		\$165.75
Sales Coordinator	Drew Obert	Est Code	11196	Net Total			\$939.25
Office	Washington	Product Name	CA 3.29-4.4 30s	Total Spots	i		13
Phone	(301) 941-2620	Credit Status	Cash in Advance	Affiliate Sp	it	100.0	
Status	Accepted		-	Sold On		Cost Per Po	int
Survey	DMA Nielsen Live+SD 2BK Mar23+Apr23	Primary Demo	Households	GRP	0	GIMP	0
All ratings are base	ed on DMA populations	Makegood Policy	Approval Required	CPP	\$0.00	СРМ	\$0.00

Comments :	3/28 NEW ORDER. PLEASE REVIEW AND CONFIRM, THANKS!

Line	Net	Program	Start Date	Stop Date	Start Time	Stop Time	М	Т	W	Т	F	S	S	RTG	IMP	Total Spots	Unit Cost	Total Cost	Spot Len	Line Comment
1	TLC	TLC EF	4/1/24	4/7/24	16:00	19:00	Х	Χ	Х	Х				0.00	0	3	\$85.00	\$255.00	30	NCR 4/1/2024-6/30/2024
2	TLC	TLC PT	4/1/24	4/7/24	19:00	24:00	Х	Χ	Χ	Χ				0.00	0	4	\$85.00	\$340.00	30	NCR 4/1/2024-6/30/2024
3	TLC	TLC PT	3/25/24	3/31/24	19:00	24:00					Χ	Х	Х	0.00	0	3	\$85.00	\$255.00	30	NCR 3/6/2024-3/31/2024
4	TLC	TLC EF	3/25/24	3/31/24	16:00	19:00					Χ	Х	Х	0.00	0	3	\$85.00	\$255.00	30	NCR 3/6/2024-3/31/2024

	Mar 2024	Apr 2024	May 2024	Jun 2024	Jul 2024	Aug 2024	Sep 2024	Oct 2024	Nov 2024	Dec 2024	Jan 2025	Feb 2025	Total
SPOTS	6	7	0	0	0	0	0	0	0	0	0	0	13
AMT	\$510.00	\$595.00	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00	\$1,105.00

SYSTEM APP:	SALES	ACCT	Date Printed (	03/29/24

63170361 | Los Angeles | Spectrum/North Orange County, CA | 1563 |

Order #	63170361	Flight Dates	03/29/24 - 04/04/24	Update Date	)	03/28/24	
Syscode	1566	Agency	Nebo Media	Version		1 Vs. 1	
System Name	Spectrum/Coastal, CA	Advertiser	Majority PAC	Show All Lir	ies	-	
Market	Los Angeles		-	Total # of W	eeks		1
		Client Code	898	Total			\$1,280.00
AE	Molly Casca	Product Code	982	Commission	1		\$192.00
Sales Coordinator	Drew Obert	Est Code	11196	Net Total			\$1,088.00
Office	Washington	Product Name	CA 3.29-4.4 30s	Total Spots			13
Phone	(301) 941-2620	Credit Status	Cash in Advance	Affiliate Spli	t	100.0	
Status	Accepted		-	Sold On		Cost Per Po	int
Survey	DMA Nielsen Live+SD 2BK Mar23+Apr23	Primary Demo	Households	GRP	0	GIMP	0
All ratings are base	ed on DMA populations	Makegood Policy	Approval Required	CPP	\$0.00	СРМ	\$0.00

Comments :	3/28 NEW ORDER. PLEASE REVIEW AND CONFIRM, THANKS!

Line	Net	Program	Start Date	Stop Date	Start Time	Stop Time	М	Т	W	Т	F	S	S	RTG	IMP	Total Spots	Unit Cost	Total Cost	Spot Len	Line Comment
1	TLC	TLC EF	4/1/24	4/7/24	16:00	19:00	Х	Χ	Х	Χ				0.00	0	3	\$85.00	\$255.00	30	NCR 4/1/2024-6/30/2024
2	TLC	TLC PT	4/1/24	4/7/24	19:00	24:00	Х	Χ	Χ	Χ				0.00	0	4	\$110.00	\$440.00	30	NCR 4/1/2024-6/30/2024
3	TLC	TLC PT	3/25/24	3/31/24	19:00	24:00					Χ	Χ	Х	0.00	0	3	\$110.00	\$330.00	30	NCR 3/6/2024-3/31/2024
4	TLC	TLC EF	3/25/24	3/31/24	16:00	19:00					Χ	Χ	Х	0.00	0	3	\$85.00	\$255.00	30	NCR 3/6/2024-3/31/2024

	Mar 2024	Apr 2024	May 2024	Jun 2024	Jul 2024	Aug 2024	Sep 2024	Oct 2024	Nov 2024	Dec 2024	Jan 2025	Feb 2025	Total
SPOTS	6	7	0	0	0	0	0	0	0	0	0	0	13
AMT	\$585.00	\$695.00	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00	\$1,280.00

SYSTEM APP:	SALES	ACCT	Date Printed	03/29/24

63170361 | Los Angeles | Spectrum/Coastal, CA | 1566 |

Order #	63170361	Flight Dates	03/29/24 - 04/04/24	U	Jpdate Date		03/28/24		
Syscode	1676	Agency	Nebo Media	V	ersion/		1 Vs. 1		
System Name	Spectrum/Irvine, CA	Advertiser	Majority PAC	S	Show All Lines	3			
Market	Los Angeles			T	otal # of Wee	ks			1
		Client Code	898	T	otal			\$1,6	695.00
AE	Molly Casca	Product Code	982	С	Commission			\$2	254.25
Sales Coordinator	Drew Obert	Est Code	11196	N	let Total			\$1,4	440.75
Office	Washington	Product Name	CA 3.29-4.4 30s	T	otal Spots				13
Phone	(301) 941-2620	Credit Status	Cash in Advance	A:	Affiliate Split		100.0		
Status	Accepted		•	S	Sold On		Cost Per Poi	int	
Survey	DMA Nielsen Live+SD 2BK Mar23+Apr23	Primary Demo	Households	G	GRP	0	GIMP	0	
All ratings are base	ed on DMA populations	Makegood Policy	Approval Required	С	PP	\$0.00	СРМ	\$0.00	

Comments :	3/28 NEW ORDER. PLEASE REVIEW AND CONFIRM, THANKS!

Line	Net	Program	Start Date	Stop Date	Start Time	Stop Time	М	Т	W	Т	F	S	S	RTG	IMP	Total Spots	Unit Cost	Total Cost	Spot Len	Line Comment
1	TLC	TLC EF	4/1/24	4/7/24	16:00	19:00	Х	Χ	Χ	Χ				0.00	0	3	\$125.00	\$375.00	30	NCR 4/1/2024-6/30/2024
2	TLC	TLC PT	4/1/24	4/7/24	19:00	24:00	Х	Χ	Χ	Χ				0.00	0	4	\$135.00	\$540.00	30	NCR 4/1/2024-6/30/2024
3	TLC	TLC PT	3/25/24	3/31/24	19:00	24:00					Χ	Χ	Х	0.00	0	3	\$135.00	\$405.00	30	NCR 3/6/2024-3/31/2024
4	TLC	TLC EF	3/25/24	3/31/24	16:00	19:00					Χ	Χ	Х	0.00	0	3	\$125.00	\$375.00	30	NCR 3/6/2024-3/31/2024

	Mar 2024	Apr 2024	May 2024	Jun 2024	Jul 2024	Aug 2024	Sep 2024	Oct 2024	Nov 2024	Dec 2024	Jan 2025	Feb 2025	Total
SPOTS	6	7	0	0	0	0	0	0	0	0	0	0	13
AMT	\$780.00	\$915.00	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00	\$1,695.00

SYSTEM APP:	SALES	ACCT	Date Printed	03/29/24

63170361 | Los Angeles | Spectrum/Irvine, CA | 1676 |

Order #	63170361	Flight Dates	03/29/24 - 04/04/24	Update D	ate	03/28/24	
Syscode	1744	Agency	Nebo Media	Version		1 Vs. 1	
System Name	Spectrum/North OC U-verse, CA	Advertiser	Majority PAC	Show All	ines		
Market	Los Angeles			Total # of	Weeks		
		Client Code	898	Total			\$785.0
AE	Molly Casca	Product Code	982	Commissi	on		\$117.7
Sales Coordinator	Drew Obert	Est Code	11196	Net Total			\$667.2
Office	Washington	Product Name	CA 3.29-4.4 30s	Total Spo	ts		1
Phone	(301) 941-2620	Credit Status	Cash in Advance	Affiliate S	olit	100.0	
Status	Accepted		-	Sold On		Cost Per Po	int
Survey	DMA Nielsen Live+SD 2BK Mar23+Apr23	Primary Demo	Households	GRP	0	GIMP	0
All ratings are base	ed on DMA populations	Makegood Policy	Approval Required	CPP	\$0.00	СРМ	\$0.00

Comments :	3/28 NEW ORDER. PLEASE REVIEW AND CONFIRM, THANKS!

Line	Net	Program	Start Date	Stop Date	Start Time	Stop Time	М	Т	W	Т	F	S	S	RTG	IMP	Total Spots	Unit Cost	Total Cost	Spot Len	Line Comment
1	TLC	TLC EF	4/1/24	4/7/24	16:00	19:00	Х	Х	Х	Х				0.00	0	3	\$55.00	\$165.00	30	NCR 4/1/2024-6/30/2024
2	TLC	TLC PT	4/1/24	4/7/24	19:00	24:00	Χ	Χ	Χ	Χ				0.00	0	3	\$85.00	\$255.00	30	NCR 4/1/2024-6/30/2024
3	TLC	TLC PT	3/25/24	3/31/24	19:00	24:00					Χ	Х	Х	0.00	0	3	\$85.00	\$255.00	30	NCR 3/6/2024-3/31/2024
4	TLC	TLC EF	3/25/24	3/31/24	16:00	19:00					Χ	Х	Х	0.00	0	2	\$55.00	\$110.00	30	NCR 3/6/2024-3/31/2024

	Mar 2024	Apr 2024	May 2024	Jun 2024	Jul 2024	Aug 2024	Sep 2024	Oct 2024	Nov 2024	Dec 2024	Jan 2025	Feb 2025	Total
SPOTS	5	6	0	0	0	0	0	0	0	0	0	0	11
AMT	\$365.00	\$420.00	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00	\$785.00

SYSTEM APP:	SALES	ACCT	Date Printed	03/29/24
-------------	-------	------	--------------	----------

63170361 | Los Angeles | Spectrum/North OC U-verse, CA | 1744 |

Order #	63170361	Flight Dates	03/29/24 - 04/04/24	Update Date		03/28/24		
Syscode	1753	Agency	Nebo Media	Version		1 Vs. 1		
System Name	Spectrum/South OC U-verse, CA	Advertiser	Majority PAC	Show All Lines	3			
Market	Los Angeles			 Total # of Wee	ks			1
		Client Code	898	Total			(	\$1,105.00
AE	Molly Casca	Product Code	982	Commission				\$165.75
Sales Coordinator	Drew Obert	Est Code	11196	Net Total				\$939.25
Office	Washington	Product Name	CA 3.29-4.4 30s	Total Spots				13
Phone	(301) 941-2620	Credit Status	Cash in Advance	Affiliate Split		100.0		
Status	Accepted		-	 Sold On		Cost Per Po	int	
Survey	DMA Nielsen Live+SD 2BK Mar23+Apr23	Primary Demo	Households	GRP	0	GIMP	0	
All ratings are base	ed on DMA populations	Makegood Policy	Approval Required	CPP	\$0.00	СРМ	\$0.00	

Comments :	3/28 NEW ORDER. PLEASE REVIEW AND CONFIRM, THANKS!

Line	Net	Program	Start Date	Stop Date	Start Time	Stop Time	М	Т	W	Т	F	S	S	RTG	IMP	Total Spots	Unit Cost	Total Cost	Spot Len	Line Comment
1	TLC	TLC EF	4/1/24	4/7/24	16:00	19:00	Х	Х	Х	Х				0.00	0	3	\$85.00	\$255.00	30	NCR 4/1/2024-6/30/2024
2	TLC	TLC PT	4/1/24	4/7/24	19:00	24:00	Χ	Χ	Χ	Χ				0.00	0	4	\$85.00	\$340.00	30	NCR 4/1/2024-6/30/2024
3	TLC	TLC PT	3/25/24	3/31/24	19:00	24:00					Х	Χ	Х	0.00	0	3	\$85.00	\$255.00	30	NCR 3/6/2024-3/31/2024
4	TLC	TLC EF	3/25/24	3/31/24	16:00	19:00					Χ	Χ	Х	0.00	0	3	\$85.00	\$255.00	30	NCR 3/6/2024-3/31/2024

	Mar 2024	Apr 2024	May 2024	Jun 2024	Jul 2024	Aug 2024	Sep 2024	Oct 2024	Nov 2024	Dec 2024	Jan 2025	Feb 2025	Total
SPOTS	6	7	0	0	0	0	0	0	0	0	0	0	13
AMT	\$510.00	\$595.00	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00	\$1,105.00

SYSTEM APP:	SALES	ACCT	Date Printed (	03/29/24

63170361 | Los Angeles | Spectrum/South OC U-verse, CA | 1753 |

Order #	63170361	Flight Dates	03/29/24 - 04/04/24	Update Date		03/28/24	
Syscode	3231	Agency	Nebo Media	Version		1 Vs. 1	
System Name	Spectrum/Central Orange County, CA	Advertiser	Majority PAC	Show All Lines			
Market	Los Angeles			 Total # of Wee	ks		1
		Client Code	898	Total			\$1,535.00
AE	Molly Casca	Product Code	982	Commission			\$230.25
Sales Coordinator	Drew Obert	Est Code	11196	Net Total			\$1,304.75
Office	Washington	Product Name	CA 3.29-4.4 30s	Total Spots			13
Phone	(301) 941-2620	Credit Status	Cash in Advance	Affiliate Split		100.0	
Status	Accepted		•	 Sold On		Cost Per Poin	t
Survey	DMA Nielsen Live+SD 2BK Mar23+Apr23	Primary Demo	Households	GRP	0	GIMP	0
All ratings are base	ed on DMA populations	Makegood Policy	Approval Required	CPP	\$0.00	СРМ	\$0.00

Comments: 3/28 NEW ORDER. PLEASE REVIEW AND CONFIRM, THANKS!

Line	Net	Program	Start Date	Stop Date	Start Time	Stop Time	М	Т	W	Т	F	S	S	RTG	IMP	Total Spots	Unit Cost	Total Cost	Spot Len	Line Comment
1	TLC	TLC EF	4/1/24	4/7/24	16:00	19:00	Х	Х	Х	Х				0.00	0	3	\$110.00	\$330.00	30	NCR 4/1/2024-6/30/2024
2	TLC	TLC PT	4/1/24	4/7/24	19:00	24:00	Χ	Χ	Χ	Χ				0.00	0	4	\$125.00	\$500.00	30	NCR 4/1/2024-6/30/2024
3	TLC	TLC PT	3/25/24	3/31/24	19:00	24:00					Χ	Χ	Х	0.00	0	3	\$125.00	\$375.00	30	NCR 3/6/2024-3/31/2024
4	TLC	TLC EF	3/25/24	3/31/24	16:00	19:00					Χ	Χ	Х	0.00	0	3	\$110.00	\$330.00	30	NCR 3/6/2024-3/31/2024

	Mar 2024	Apr 2024	May 2024	Jun 2024	Jul 2024	Aug 2024	Sep 2024	Oct 2024	Nov 2024	Dec 2024	Jan 2025	Feb 2025	Total
SPOTS	6	7	0	0	0	0	0	0	0	0	0	0	13
AMT	\$705.00	\$830.00	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00	\$1,535.00

SYSTEM APP:	: SALES	ACC		Date P	rinted	03/29/2	<u> 2</u> 4
-------------	---------	-----	--	--------	--------	---------	-------------

63170361 | Los Angeles | Spectrum/Central Orange County, CA | 3231 |

Order #	63170361	Flight Dates	03/29/24 - 04/04/24	Update D	ate	03/28/24	
Syscode	3394	Agency	Nebo Media	Version		1 Vs. 1	
System Name	Spectrum/South Orange County, CA	Advertiser	Majority PAC	Show All	_ines		
Market	Los Angeles		-	Total # of	Weeks		
		Client Code	898	Total			\$1,605.0
AE	Molly Casca	Product Code	982	Commiss	on		\$240.7
Sales Coordinator	Drew Obert	Est Code	11196	Net Total			\$1,364.2
Office	Washington	Product Name	CA 3.29-4.4 30s	Total Spo	ts		1:
Phone	(301) 941-2620	Credit Status	Cash in Advance	Affiliate S	olit	100.0	
Status	Accepted		•	Sold On		Cost Per Po	int
Survey	DMA Nielsen Live+SD 2BK Mar23+Apr23	Primary Demo	Households	GRP	0	GIMP	0
All ratings are bas	ed on DMA populations	Makegood Policy	Approval Required	СРР	\$0.00	СРМ	\$0.00

Comments :	3/28 NEW ORDER. PLEASE REVIEW AND CONFIRM, THANKS!

Line	Net	Program	Start Date	Stop Date	Start Time	Stop Time	М	Т	W	Т	F	S	S	RTG	IMP	Total Spots	Unit Cost	Total Cost	Spot Len	Line Comment
1	TLC	TLC EF	4/1/24	4/7/24	16:00	19:00	Х	Х	Х	Х				0.00	0	3	\$110.00	\$330.00	30	NCR 4/1/2024-6/30/2024
2	TLC	TLC PT	4/1/24	4/7/24	19:00	24:00	Χ	Χ	Х	Χ				0.00	0	4	\$135.00	\$540.00	30	NCR 4/1/2024-6/30/2024
3	TLC	TLC PT	3/25/24	3/31/24	19:00	24:00					Χ	Х	Х	0.00	0	3	\$135.00	\$405.00	30	NCR 3/6/2024-3/31/2024
4	TLC	TLC EF	3/25/24	3/31/24	16:00	19:00					Χ	Х	Х	0.00	0	3	\$110.00	\$330.00	30	NCR 3/6/2024-3/31/2024

	Mar 2024	Apr 2024	May 2024	Jun 2024	Jul 2024	Aug 2024	Sep 2024	Oct 2024	Nov 2024	Dec 2024	Jan 2025	Feb 2025	Total
SPOTS	6	7	0	0	0	0	0	0	0	0	0	0	13
AMT	\$735.00	\$870.00	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00	\$1,605.00

SYSTEM APP:	SALES	ACCT	Date Printed (	03/29/24

63170361 | Los Angeles | Spectrum/South Orange County, CA | 3394 |

Order #	63170361	Flight Dates	03/29/24 - 04/04/24	Upda	ate Date		03/28/24		
Syscode	4309	Agency	Nebo Media	Vers	sion		1 Vs. 1		
System Name	Spectrum/Huntington Beach Combo, CA	Advertiser	Majority PAC	Show	w All Lines	5	•		
Market	Los Angeles		•	Tota	l # of Wee	ks			1
	-	Client Code	898	Tota	ıl			\$	2,395.00
AE	Molly Casca	Product Code	982	Com	nmission				\$359.25
Sales Coordinator	Drew Obert	Est Code	11196	Net <sup>-</sup>	Total			\$	2,035.75
Office	Washington	Product Name	CA 3.29-4.4 30s	Tota	l Spots				13
Phone	(301) 941-2620	Credit Status	Cash in Advance	Affilia	ate Split		100.0		
Status	Accepted		•	Sold	l On		Cost Per Poi	nt	
Survey	DMA Nielsen Live+SD 2BK Mar23+Apr23	Primary Demo	Households	GRP	)	0	GIMP	0	
All ratings are bas	ed on DMA populations	Makegood Policy	Approval Required	СРР	)	\$0.00	СРМ	\$0.00	

Comments :	3/28 NEW ORDER. PLEASE REVIEW AND CONFIRM, THANKS!

Line	Net	Program	Start Date	Stop Date	Start Time	Stop Time	М	Т	W	Т	F	S	S	RTG	IMP	Total Spots	Unit Cost	Total Cost	Spot Len	Line Comment
1	TLC	TLC EF	4/1/24	4/7/24	16:00	19:00	Х	Х	Х	Χ				0.00	0	3	\$160.00	\$480.00	30	NCR 4/1/2024-6/30/2024
2	TLC	TLC PT	4/1/24	4/7/24	19:00	24:00	Χ	Χ	Χ	Χ				0.00	0	4	\$205.00	\$820.00	30	NCR 4/1/2024-6/30/2024
3	TLC	TLC PT	3/25/24	3/31/24	19:00	24:00					Χ	Χ	Х	0.00	0	3	\$205.00	\$615.00	30	NCR 3/6/2024-3/31/2024
4	TLC	TLC EF	3/25/24	3/31/24	16:00	19:00					Χ	Χ	Х	0.00	0	3	\$160.00	\$480.00	30	NCR 3/6/2024-3/31/2024

	Mar 2024	Apr 2024	May 2024	Jun 2024	Jul 2024	Aug 2024	Sep 2024	Oct 2024	Nov 2024	Dec 2024	Jan 2025	Feb 2025	Total
SPOTS	6	7	0	0	0	0	0	0	0	0	0	0	13
AMT	\$1,095.00	\$1,300.00	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00	\$2,395.00

SYSTEM APP:	SALES	ACCT	Date Printed	03/29/24

63170361 | Los Angeles | Spectrum/Huntington Beach Combo, CA | 4309 |

Order #	63170361	Flight Dates	03/29/24 - 04/04/24	U <sub>l</sub>	lpdate Date		03/28/24			
Syscode	6257	Agency	Nebo Media	Ve	ersion		1 Vs. 1			
System Name	Spectrum/Saddleback, CA	Advertiser	Majority PAC	SI	how All Lines	3				
Market	Los Angeles		To	otal # of Wee	ks		1			
		Client Code	898	To	otal			\$1,535.00		
AE	Molly Casca	Product Code	982	C	Commission			\$230.25		
Sales Coordinator	Drew Obert	Est Code	11196	N	let Total			\$1,304.75		
Office	Washington	Product Name	CA 3.29-4.4 30s	To	otal Spots			1		
Phone	(301) 941-2620	Credit Status	Cash in Advance	Af	ffiliate Split		100.0			
Status	Accepted		•	Sc	old On		Cost Per Poi	Cost Per Point		
Survey	DMA Nielsen Live+SD 2BK Mar23+Apr23	Primary Demo	Households	G	RP	0	GIMP	0		
All ratings are base	ed on DMA populations	Makegood Policy	Approval Required	C	PP P	\$0.00	СРМ	CPM \$0.00		

Comments :	3/28 NEW ORDER. PLEASE REVIEW AND CONFIRM, THANKS!

Line	Net	Program	Start Date	Stop Date	Start Time	Stop Time	М	Т	W	Т	F	S	S	RTG	IMP	Total Spots	Unit Cost	Total Cost	Spot Len	Line Comment
1	TLC	TLC EF	4/1/24	4/7/24	16:00	19:00	Х	Х	Х	Х				0.00	0	3	\$110.00	\$330.00	30	NCR 4/1/2024-6/30/2024
2	TLC	TLC PT	4/1/24	4/7/24	19:00	24:00	Х	Χ	Χ	Χ				0.00	0	4	\$125.00	\$500.00	30	NCR 4/1/2024-6/30/2024
3	TLC	TLC PT	3/25/24	3/31/24	19:00	24:00					Χ	Χ	Х	0.00	0	3	\$125.00	\$375.00	30	NCR 3/6/2024-3/31/2024
4	TLC	TLC EF	3/25/24	3/31/24	16:00	19:00					Χ	Χ	Х	0.00	0	3	\$110.00	\$330.00	30	NCR 3/6/2024-3/31/2024

	Mar 2024	Apr 2024	May 2024	Jun 2024	Jul 2024	Aug 2024	Sep 2024	Oct 2024	Nov 2024	Dec 2024	Jan 2025	Feb 2025	Total
SPOTS	6	7	0	0	0	0	0	0	0	0	0	0	13
AMT	\$705.00	\$830.00	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00	\$1,535.00

SYSTEM APP:	SALES	ACCT	Date Printed	03/29/24

63170361 | Los Angeles | Spectrum/Saddleback, CA | 6257 |